
Index Law for further powers:

• Raise any coe�cient to the power outside
       grouping symbols

• Keep the same base

• Multiply the indices

Example:

Simplify the following questions.

Simplify the following, giving answers without negative indices.

(x³y⁵)² a²b⁵
x³y⁶ (a³b²)³

(w²v³)²
w⁶v²

d³e⁷
(d⁵e²)³

(r⁸)⁸ (7l)³ 3b⁴
7d²

²)( 6g⁷
5h¹¹

²)(
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MATHEMATICS:
INDICES

if you need additional help please 
contact us at 1300 182 000 or visit 
our website clueylearning.com.au



Simplify the following questions.

Index Law for further powers:

• Raise any coe�cient to the power outside
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• Multiply the indices
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Simplify the following, giving answers without negative indices.

(x³y⁵)² a²b⁵
x³y⁶ (a³b²)³

(w²v³)²
w⁶v²

d³e⁷
(d⁵e²)³

(x³y⁵)²
x³y⁶

= 
x⁶y¹⁰
x³y⁶

=    x⁶ ³ y¹⁰  ⁽⁶⁾

=    x⁹y¹⁶

= 
y¹⁶
x⁹

a²b⁵
(a³b²)³

= a²b⁵
a⁹b⁶

= a² ⁹ b⁵  ⁽⁶⁾ 

= a¹¹b¹¹

=
b¹¹
a¹¹

= b
a( )¹¹

(w²v³)²
w⁶v² =

w⁴ v⁶
w⁶v²

= w⁽⁴⁾ ⁶ v⁶  ⁽²⁾

=    w¹⁰ v⁸

v⁸
w¹⁰=

d³e⁷
(d⁵e²)³

= d³e⁷
d¹⁵e⁶

= d³ ¹⁵ e ⁷  ⁽⁶⁾

= d¹⁸ e¹³

e¹³
d¹⁸=
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Learning Objective: Multiplication, division and negative index laws.

(r⁸)⁸ (7l)³ 3b⁴
7d²

²)( 6g⁷
5h¹¹

²)(

(r⁸)⁸ = r⁸ ⁸
        = r⁶⁴

(7l)³ = 7³ x l³

= 343l³

3b⁴
7d²

²)( = 3²b⁴ ²X
X

7²d² ²X

9b⁸
49d⁴

=

6g⁷
5h¹¹

²)( =
6²g⁷ ²X

5²h¹¹ ²X

=
36g¹⁴
25h²²


